Exam Held On : 24-01-2010

REASONING ABILITY

- How many such pairs of digits
are there in the number 531 468
each of which has as many digits
between them in the number as
when the digits are rearranged
in descending order within the
number ?

{1} None (2] One
(3} Two {4} Three
(5] More than three

2. In a certain code SAGE ls writ-

ten as ‘4169 and PERT is wrlt-

ten as '7928". How is STEP writ-

Llen that code 7,4

(1) 4807 (2} 4087
3) 4197 (4) 4387
(5} None of these

Pointing to a girl, Subodh said

“She is the daughter of my

mother's only brother”, How Is

Subodh related to the girl ?

(1) Cousin brother

(2) Maternal uncle

{3) Brother

(4} Data inadequate

(5) None of these

4. In a certain code CONQUER Is
writteri as MNBRQDT. How i=
STEAMER written in that code 7
(1) DRSEQDL (2) DSRBLDQ
(3) DSRZQDL (4) DSRBQDL
(5] None of these

. The positions of the first and the
fifth digits In the number
83241957 are Interchanged.
Similarly the positions of the sec-
ond and the sixth digits are in-
terchanged and so on. Which of
the following will be the third from
the right end after the rearrange-
ment ?
mi @2
() None of these .

. Th na of how man ts

in the nithber 5321648 i;ﬁg:e

main unchanged after the digits

7. In a row of twenty students, R 1s
ﬁﬁhfrnmthtﬂmtenddelu
fourth from the left end. How
many students are there between
R and T In the row ?

(111 @12
(3 10 .

{4) Cannot be determined
45) None of these

8. How many meaningful English
worde can be made with the lat-
ters NLAE using each letter only
once In each word 7
{1} None (2) One
(3 Two {4) Three
{5) More than'three

10. Among A, B, C, D and E each

11.

12. In a certain code language, ‘Mon-

mrumngdmu.mdﬁgur-
der within the number ?

(1) None (2] One
(3) Two (4) Thres
(5] More than three

If '+ means '+; - means %' '+
means ' and %" means '+, then—
14-4x7+12+8=7

(1) 20 2 12
1

(3 ﬁﬁ @ 8

(5] None of these

having a different amount of
maney, C has more money than

only E, B and A. Who among them
has the highest amount of

money ?
(e

B E .
{4) Data Inadequate

(5] None of these -

How many such pairs of letters
are there in the word PERFO-
RATE, each.gf which has as many
letters between them In the word
as in the English alphabet ?

{1) None (2] One

(3 Two (4) Three

{5) More than three

2D

day is a holiday’ is written as ‘sa

da pa na’ and 'they enjoy a halt
day’ is written as ‘da na ta ka'

‘How is ‘Monday' written in thal

code language ?
{1) sa

(3) sa or pa

(1} Data inadequate

(5] None of these

‘BF Is related to 'IM in the same|
way as "HL'is related to — |

i1y PT 2] NR

{3 OR 4] 08

(5) None of these

Nikhil walled 30 metres towards
East, took a left turn and walked
20 metres. He agaln (ook a left
turn and walked 30 metres. How
far and in which direction is he
from his starting point ?

(1) 20 metregNorth

(2} 80 metres North

(3 20 meires South

(4) 80 metres South

{5) Data Inadequate

(2) pa

18, What should come next in the

foltowing number serfes? [

9182736459182736)

5918273501827

(3 2 1

3 5 4 8

(5) None of these

Directians (16-18) ; F‘ullt»vﬂ
th

questiona are based on the five
digit numbers given below.

813 479 564 385 792

18. If the positions of the firs an&!

17.
" ond digit of the second lowest

number are interchanged, w
of the following will be the low-
est number ?

the second digits within c;%

(1) 813 (2)-479
13 564 (4) 385
(5) 792

Which of the following is the sec-

number ?
(n1
13 8
(5 @

2 7
4 8




48, Which of the following s the sum | .

of the first and the third digits of
the second highest number 7
{1 (2) 13
39 4) 8
(5] None of these
Directions (19-20) : Study the
information carefully and an-
pwer the questions given below:
{ f§ PxQ means ‘P is mother of Q".
'l P+ Q means ‘P is sister of Q.
() P+ Q means P Is father of Q.
ﬂ"}P~Qmmns'PlshmmgrnIQ'.
18. Which of the following means °J
{8 paternal grandfather of W* 7
A WTEd @J+TxW
[ J :wa {4]J:T+W
(5]" None of these

ﬂWhichdlblbwingm“Mh
nitece ol R' 7

iy M=T+J-R

2 T+M-K

3 R-T+M-K

4 R+T+M+K

{5) None of these

'nhuﬂnli:ll-mlsmdyth:
lullmringamnpnzmcamﬁ.lllrmd
answer the questions given below :

HBR%HAEH?P&EQH*‘

WeF&QJUVOJIDT7S
_21. How many such numbers are

there In the above arrangement,

each of which i1s immediatelly.
preceded by a consonant-and also

immediately followed by a conso- |

nant ?
{1) Nane (2] One
3 Two (4] Three
(5) More than three
22. What should come néxt in the
following series based on the
above arrangement ?
3%M KPS HNwWe ?
(1} w1U 2) g1V
&3 QWY {4) QU9
(5} None of these
23. If all the symbols are dropped

from the above arrangement, |-

which of the following will be the
eleventh from the right-end ?
mea 2 F
AN 4 4
(5) None of these

24. Which of the following is the sixth
“to the Jeft of the fourteenth from
the left end of the above arrange-
ment 7

(1)-2 2 1
@U WK
{B) Nome of theke

28. How many such numbers are
there in the above arrangement,
each of which is immediately pre-
ceded by a consonant and lmme-

diately followed by a'symbol ?
(1) None {2) One

3) Two (4) three

{5) More than three

Directions (26 ~ 30) : In each of
the questions below are given four state-
ments followed by three conclusions
numbered [, [1 and Ifl. You have to take

- the given statements to be true even if
they seem tb be at variance from com-
monly known facts. Read all the con-
clusions and then decide which of the
ghven conclusions logically follows from
the given statements disregarding com-

monly known facts.

26. Statements !
Some pens are tables,
All tables are umbrellas.
Some unbrellas are sticks.
" All sticks are caps. '
Conclosions :
- 1. Some caps are umbrellas.
[1, Some {imbrelas are pens,
[1. Some sticks are pens.
{1) Only I and II follow
(2) Only | and [II follow
{3) Only Il and 1! follow
(4) Al 1, 11 and I follow
{5) None of these

7. Statements :

All cheques are notes.
All notes are tyres.
All tyres are books.
All books are rods.
Concluslons : .
1. Some rods are notes.
“ 1I. Some books are tyres.
111. Some tyres are cheques.
(1) Only I and 11 follow
(2 Onily 1 and 111 follow
(3 Only H and [ follow
4) AL, Itmid[[lful]ow
(s Hnnedt.‘hue

28. Btatemients:
Some lanes are poles.
All poles are skies,
Some skies are baxes.
No bax is hottle.

Conclusions :
1. Some hottles are lanes.
I1. Some boxea are poles.
11 Ne bottle 1s lane.
{1) None follows
~ {2) Only 1 follows
18] Only Il follows
(4) Only Il follows
{5) Only either I'or IiI follows
20. Btatements :
All roads are buses.
Some buses are cars.
Some cars are days,
All days are nights.
Conclusions :
. Some nights are buses.
Il. Some nights are cars.
11l Some days are buses.
+11) None follows
[2) Only I follows
[3) Only 11 follows
(4) Only Ill follows
(5] Only I and I follow
50, Statements
Some seeds are flowers,
All flowers are trees.
All treea are leaves.
Some leaves are branches.
Coaclusions :
[. Some branches aré flowers,
Il. Some leaves are seeds,
- 1IL Some leaves are flowers.
(1) Only | and 11 follow
{2) Only 1 and 10l follow
{31 ©nly Il and HI follow
4] AL, 11 and [ follow
(5] None of these
Directions (31~ 38} : Study the

following information carefully and an-
| swer the questions given below

FQ. R STV, W YandZ are

sitting around a circle facing the cen-
,tre. V is second to the left of P who is
third to the left of Y. 8 is fourth to the
lefi of P. T is third to the righl of §
who Is to the immediate right of V. W
is fourth to the right of Z.

31. In which of the following combi-
nations is the first pe sitting
in between the scqufand the
third pe'.rauns ?

':l

(1) RSZ 2
@ Weg' vz
(5 PGV



32. Who Is second to the right of Z ? | 38. JAIFMR

ne

3w

(4) Data inadequate

{5) None of Lthese
. Inwhich of the folkmhgpa.lmin
the first persons sitting to the
immediate right of the second
person ?
nve
(3 82
i5) ¥T
Who is third (o the left uf$‘?
ny 2w
BT '
(4} Data inadequate
(5) None of these
Who Is third to the right arw ?
ns 2R
v 2
(3] Data inadequate -
Directions (38 - 40) : In each
question below is given a letter group
followed by four combinations of dig-
its /symbols numbered (1), (2), {3) and
i4), You have to find out which of the

combinations correctly represents the
group of lelters based on the

voding system and the conditions that
follow and mark the number of that
combination as your answer. If none
ol the combinations correctly repre-
senits the group of letters, mark (5) i.e.
None of these' as your answer, -

'Laner |RID[E[RTATFIH]T TUIB
ot |
| Symibet | . :
[Code | 711 |*|2|%|3|8le|4|0]s]s|sls

@ r

2 2v
(4] RS

35,

M ziwlJ

[it If the first and the third letters
are vowels both are to-be coded
as the code for the third letter,

(i) If the first and the fourth letters
are consonants, both are to be
coded as the code for the Arst
letter.

i) !Hheletl;ﬂ-rlaavmvelmdthf:-

last letter is a corisonant, their

codes are to be interchanged.
36. UVZMEEF

(1) 3592%4 (2) 450243
(3) 458443 " (4] 9592%3

. (5} Narie pk these:

37. BIRERW, . ..,
1Y) an?m i1 (2) TO7%06
() BOTHD6 ' . (4) BOTHOB

“15¥ Norié of thm

(1) 808397 12) 700308
(3) 808387 . (@) 300807
(5) None of these

39. DEERBJ i .
(1) 742708 ) 142188
(3) 8%27@1 (4) 1%2708
(5) None of these

40. ERAWYU

(1) *@%S84 mm,
3) AOXS64 - [4) %O%S64

tﬂmdﬂlﬂt

Input
Stepl°:
Step Il
Step I
S:tcplv
41. Input mmmﬂ&ﬁ:m
joy 15 :
mmmdﬁhmm
-mmmmemm?
(1) Skx (2) Seven
(3) Eght  (4) Nine
{5} None-of these :
42. Step 11 of an Inpul: 27 world go
57 48 stern 35 kite
How many more sieps will be
mtdmdlommplﬂ.elherﬂr
rangement ?
(1) Five (2) Four

(3) Three  [4) Six
(5 None of these

20rone petal 3286 oal 41
ﬁuﬁﬁ@ﬂﬂmm

:aiaunmhunpmaa
goal

44 m:mmhaimhm :

l-'( hﬂplmgﬂeplw’lﬂ
[1| Vl

*”‘ﬁv
S

illlil
. Stepllldmlpu 18 tower 38
basket 82 76 hall new

Whlehufthtﬂwﬂmwm
be step VII 7 .

: 20 toll 32 rose petal 86 goal
a1

AN lﬂmﬁﬂhﬂl?ﬁnmbaa
J i ket 82
(2) 18 tower 38 new 76 hall &
basket
~{3) 18 tower 38 hall 76 new &2
basket
(4) There will be no such step
{8) None of these
48. Steplilofan Input is : 15 yes 24
80 today never go 50
Which of the following will defi
nitely bé the Input ?
(1) 24 80 today never go 59 15
yes
miiBGmdayyeanﬂcrguﬁJ
1%
ﬂig Iﬁymﬁutodaym-crgu

{4) Cannot be determined
(5) None of these
Directions (48 - 80) : In the fol-

; 5.
=Eﬂﬂﬂ.ﬂﬂﬂﬂ-$mil" lmingquuunna the symbaols 8. . %,

@ and # are used with the following
meaning as illustrated below :
‘A% B' means A is neither greater

‘than nor equal to B',

‘A # B meana'Ais neither smaller

 than nar equal to .

*A8 B'means ‘A is neither smaller
than nor greater than B'.

A% B means ‘A is not smaller
thanB'. |
'A® B means ‘A Is not greater
ﬂ:.ml

Now in each of the following ques-

tions assuming the given statements|
Lo be true, find which of the three con-

| clusions 1, it and Il given them Is/are.

true and give your answer

46. Btatements;M# R, R%P. P5J|

' Concluslons:

I. M P

Hr.J% M

(1] None ia true

{2) Only 1is true

3) Only 11 is true

{4) Only I11 18 true

(8 Only Il and III are true

47. Btatements: P D, D#Q. Q@R
Conclusions ;
1. Q%P
NLP#D
(1) None is true

o (2 Only | 1s true

~(3) Only 11 is true
{4) Only II is true
{5} None of these

I.J #R

. RW b



48. Statements : T%M M@K ExF
Conclusions :
I. F%M
ILF%T
INLE#T
(1) Only Il is true
{2] Only Il is true
13} Only L'is true i
(4} Only If and I1I are true
(5} All'L, 11 and II1 are true
9. Statements : HO K. KGN N%T
Conclusions :
I. THK
I. N6H
HI.H% N
(1) Only Iis true
(2} Only Il is true
(3) Only i Is true
(4} Only either I or 111 48 true
(5) Only either 11 or Wl and ] are
Lrue :
. Statements :F5D, DK K#M
Conclusions ; :
. M%D
I.K@F
HLF#M
(1) Only I'and Il are true
{2) Only 1 and I1l are true
(3) Only Il and I1I are true
4) AL TI Il are true
i5) None of these

Directions {51- 80) ; Study the

lullowing information carefully and an- |-

swer the questions given below :

Following are the conditions for
selecting Tralnee Officers in an
organisation :

The candidate must—
(il be a graduate in any discipline

with at least 55 per cent marks. |

ili} have secured at least 80 per
cent marks in the Xif Std. ex-
amination. .

(i) be at least 22 years and not
more than 20 yéars as un
01.01.2010.

(iv) have secured at least 40 per
cent marks in the selection ex-
amination. ¥

{v) have secured at least 50 per cent |

marks in the personal interview.
vi) be ready to sign a bond for two

years.

[n the case of a candidate who

satisfies all the conditions ex-

ﬂ]*_

[} as (i) above, but is a qualified
Cost Accountant/Chartered Ac-
countant, the case is to be re-
ferred to ED.

{b) at {v) above, but has secured at
least 60 per cent marks in the
selection  the case Is

- tobe refered td Chalrman.

' lneachquﬂuonhdmarcglven
details of one have to
take one of the
actions based on the information pro-
vided and the conditions and sub-con-
ditions given above and mark the num-
ber of that course of action as your
answer. You are nol to assumée any-
thing other than the information pro-
vided in each question. All these cases
are given to you as on 01.01.2010.

Mark anawer (1) if the candidate
htobelehﬂeﬂ

Hﬂm[ﬂd’ﬂumndidatt
is not to be selected. '

Huimtﬂlﬁmtcaumn
be referred to ED.

Mark answer (4) if the case is (o
be referred to Chairman.

Mark answer (5) if the data pro-
vided are not adeguate to take a deci-
slon:

B1. Susan D'Souza has secured 62
per cent marks in XII Std. and

59 percent marks in B.A. She

was born on 15th July, 1984. She

has secured 50 pércent marks
in both the selection examination
and personal interview. She is
mudytutlgnbm:lfnrm:iyam
Ii. Archana Sahu was born on 8th

' May 1986. She has secured 60

percent marks in both XII Std.

and B.Sc. She Is ready to sign .

bond for two years. She has se-

cured 40 percent marks In the
personal interview and 50 per

cent in the selection examination. |
83. Sudhakar Bagehi was born on 4th |

November 1982. He has secu
67 percent marks in X1 Std. ;ﬁr
50 per cent marks in graduation.
Hehul.humt:u!uﬁibqua]lﬂnd
mﬂhnrtcmdmmmimﬁ He has
secured 50 per cent marks in
both the Ithc_thn examination
and personal Interview. He Is
ready to sign bond for two years.

84. Abhinav Shukla has secured 70
percent marks in XII Std. and 58
percent marks in B.Com, He was

courses of |

¥

born an-15th September, 1964
He has secured G5 percent
marks in the'deléctidn examin
tion and 48 pereent marks in the
personal intervigw, He is ready
tuslgnbenclrnrt-.qgw £

HIL Atul Garg was hom,on gnd De-
cember 1980, He has secured 56
percent marks in B.Sc. and 63
percent mark in XII Std. He has
also secured 506 percent marks
in both the selection examination
and personal interview. He s
ready Lo sign bond lor two yvears
Meena Gogoi was born an 14th
March 1985, She has secured (12
percent marks in X1 Std, amd G5
percent marks in Lhe selection
examination. She has also sc-
rured 58 percent marks in gradu
ation and 48 per cent marks in
personal interview. She i reardy
to sign bond for two years.

.- Navin Malhotra was born oo 30l
August, 1987, He has secured G4
per cent marks in Xl Sid. anil
50 per cent marks in B.A. He has
secured 50 percent marks in
personal interview and 40 per
cent marks In the selection ex
amination, He is a qualificd Cost

. Accountant. He is ready 1o sign
bond for two years.

88, Ashok Pradhan has secured 5o

percent marks in Braduation sl

63 percent marks in X1l Sid. He

was born on 12th Decembe

1986. He has secured 45 pe

cent marks in the selection ex

amination and 55 per cent mi ks
in the personal interview.

Suresh Das is ready to sign bond

for two years, He is first class

graduate in sclence.' He has se
cured 50 per cent marks In per
gonal interview. and 40 percenl
marks in the selection examina
tion. He was born on 25th

U April 1982, He got ten. percent

more marks than his friend in X1

Std.

Antara Ghosh was bom on 2nd

Decemnber 1981. She has secured

60 percent marks in bath the

selectlon examination and per

somal interview. She has secured

62 percent marks in X1 Sud. and

57 percent marks in B.S¢ She

is ready {0 sign bond lor {wo

VEATS.



- Directions (61 -68) 1 Study the
lollowing information carefully and an-
swer the questions given below :

"ACB,C.D E'F. G and H are
eight personi workmg.lﬁ three differ-
ent Heparthents vi2' bpdﬁumnhhu
athfi Firidncof dn with at
least W Snd Mot thore three In any
departiment. They are In three differ-

ent scales viz. 1, Il and I with at least |

two in any one scale,

Both the employees in Operations
departments are in Scale 1. D works
in Sales department and belongs to
Scale I. A works in Finance -
ments and does not belong Lo Scale I
Twa employees in Sales department
belong to one scale. F works with only
Hin one of the departments. C works
with E in one of the departments. B
does not work with either C or Ain the
same department. G does not belong
to Scale [1. E does not belong to Scale 1.

61. Which of the following combina-

tions is correct 7

(1) Operation - F - [

{2) Operation - H - Il

(3) Sales - B -

{4) Finance - E - 1lI

(5) All are correct

62. Which of the following groups of
employees work in sales depart-
ment ?

(1} DBE

(3 DBG

(4) Data inadequate

(5) None of these

63. H belongs to which scale ?

IVR @n

3m

(4) Data inadequate

{5) None of these i

64. G belongs to which scale ?

nn . @im

(@1 () lorm

(5} None of these

88. C belongs to which scale 7

i @n

(3 1 @ 1orn

(5} None of these

Directions (86 - 70) : Below Is
given a passage followed by several
possible inferences which can be
drawn from the facts stated in the pas-
sage. You have to examine each Infer-
ence separately In the context of the

passage and decide uppn Its degree of
truth or falsity.

(2] DBC

Mark anewer (1) If the inference

is ‘definitely true', L.e. it properly fol-
lows from the statement of facts glven.

-Mark answer (3) il the inference

is ‘probably true’ though not ‘definitely

true’ In the light of the facts given.

Mark answer (3) if the ‘data are
inadequate’, .. from the facts given
you tannot say whether the inference
is likely to be true or false,

Mark answer(4) if the inference
is ‘probably falee', though not ‘definitely
false' in the light of the facts given.

Mark answer (§) il the inference
is ‘probably false’, i.¢. it cannot possi-
bly be drawn from the facts givenaor it
contradicts the given facts.

Coal and power are the mainatays
of India’s energy sector. Coal is the
country’s backbone of energy supply
and is likely to continue playing a aig-
nificant role {n energy de-
mands. [t accounts for aver 50 per cent
of the commercial energy requirements
in the country. Despite reported fig-
umo{awhw:h!llrﬂepoﬂrmum

ing gap between the demand and sup-
ply of domestic coal, which may result
in increased imports. Morcover, the
country’s resources are often over-
stated as assessment process does not
consider the » technical feasibil-

Aty and economic viability of coal min-
Ing and exploration.

88. India’s coal mines and mining
activities are commercially viable,

67. The coal mines of the developed
countries generate more profits
than those in India.

68. Assessmenit process of coal re-
serves Is not capable of identify-
ing coal reserves accurately.
88. India’s dependenice on coal for
generating energy will continue In
the time to come.

70. India’s coal reserves are much
mare than its requirement.
Directions [T1 - 78) : In each

question below is given a statement

followed by two courses of action num-

bered | and 11. A course of action 1s a

step or administrative decision to be

taken for improvement, follow-up or
further action In regard to the prob-
lem, policy, etc. On"the basis of the
information given In the statement, you

have to assume everything in the statc-
ment to be true, then decide which of
the suggested courses of action logi-
cally follow(s) for pursuing.

Mark answer (1) If only Course
of action 1 follows.

Mark answer (2) if only Course
of action 11 follows.

Miaxk anwwer (3) f cither Course
of action | or Course of actlon 1l fol-
lows. '

Mark answer (4) if neither Course
of actlon 1 or Course of action 11 fol-
lowrs.

Mark answer (8) if both Course
of action 1 and Course of action Il fol-
low,

71. Statement : Many school chil-
dren dies in few accidents caused
due to poor maintenance of school
buses during the last few
months.

Courses of action :

[. ‘The government should set up
an expert group to inspect Lthe
condition of school buses to
avold such accidents,

I. The gove t ahould sus-
pend the licence of all the
school buses till these buses
are plbpcrly checked.

72. Btatement : Many customers
complained tothe manager of the
local branch of the bank against
"the highhandedness of the bank
employees while dealing with the
customers.

Couzrses of action ;

l.  The bank management should
Immediately suspend all the
employees of the branch and
deploy a different set of em-
ployees.

Il.. The bank management should

*  ask for a report from the man-
ager of the branch for taking

) neceasary steps,

73. Btatement : Twg persons, while
on their daily walks in the jogger's
park were killed by unidentified
miscreants early in the morning.
Courses of action :

1. The police authority should
deploy police constables near
the jogger's park to prevent

" 'such criminal acts in future.

II. The citizens of the locality
should go for early morning
walks in groups to avoid such
attacks.



74. Statement : A huge ofl tanker
overturned on the highway lead-
ing to the state’ aplul and
blocked most part
f:mnvehlculnrp‘nmc
Courses of action :

[. The government should trte-
diately constitute a high level
enguiry committee to look into

. the matter, .

11. The driver of the ofl tanker
should lmmtd;lam:.r be ar-
rested.

78. Statement : A very lange num-
ber of recently recrulted officers
left the Bank after attending the
training programme on branch

Banking operations.conducted by

the bank.

ﬂn-mn!'uﬂll

L. ‘ﬁwhankuhuu!dtnkubmﬂ
of at least two years from each
newly recruited officers be-

. fore putting them Into the

lrah'lhupm

II. ‘The bank should conduct the
training programme at least

one year after the newly re- |

cruited officers jnined the
harik.

Directions (78-80) ! In each
question
followed by
land II. An ass 1s something
supposed or l‘.akc: for granted, You
have to congider the statement and the

following assumptions and decide |

which of the assumptions is implicit in
the statement. )

Give answer (1) if only Assump-
tion [ is Implicit. -

Give answer (3) if only Assump-
tion 1l is implicit.

Glve answer (3] If either As- '

sumption l-or Assumption II is/implicit.

Give answer (4) if.ifither As-
sumption | nor Assumption. I is im-
plicit. vy
Give answer (8] if both Assump-
tions 1 and 11 are implicit,

76. Btatement : The cricketing body
decided to hold the final match
of the tournament in'the biggest
stadium of the country which can
accommodate abiove ene lakh
spectators.

Assumptions.: :

1. Most of the tickets may be
sold resulting into huge in-
come for the cricketing body.

is ‘given a statement |
assumptions numbered |

Il. Most of the spectators may
prefer to wateh the match on

TV at their homes rather than

going to the stadium.

. Statsment : The local hospital put
up-a notice. béard at the main

. entrance stating that the hospi-

tal will earry out free check up

for detecting cancer for people
staying ia the locality.

I. Large number of people liv-
ing in the locality may avail the
free check up facility offered

" by the hospital. -

11. Hospital staff deployed for the

. purpose may be able to cope

+ upwith the rush of peaple for
check up.

78, Statement : The government has
decided to distribute 3 kgs. of
food-grains to every family living
below poverty line for the next
three months at a mominal price
of Ra. 5 per kg.-

; . .

I. The government has enough
stock to distribute foodgrains

> for the entire period.

[l. Families living below poverty
line may be able to afford to
huyfwdgm.lmatﬂu 5 per

m—m:m;ﬂmmhm

“recently advised all the public

sécior barks io reduce rate of

interest on home loans upto Rs.

25 lakhs.

Assamptions :

I. ‘The pubilic sector banks may

reduce the Interest on alt-|

' home loans upto Rs. 25 lakhs.
1. People may take undue ad-
untaac of the government's

ln.ltmn‘rhemthudypu{

up a hufe hotice board on the
bench located at an isolated part
of the city as "Many plcknickers
died while swimming in the sea
during the past few months™
Assumptions :

1. Picknickers may ignore the |
mﬂuuﬂmﬂnmmﬂwhg
into the sea.

1I. Picknickers may read and be
careful while venturing into
the sea.

Directitife (8- 88)> Below in
each questiof aregiven wo statements
(A) and (B). These ptatesments mmay by
efther independent-cayses of may he
effects of indepensdent 88 oF @
common CApEy PR Al Uese. plALs
ments may be, ofthe pthes
statement. Read b ‘l,l?rﬁtqmrnmt-«
and decide which of the following.an-
swer choices correctly depicts the re
lationship between these two statc-
ments.

- Mark answer (1) if statement 14)
I8 the cause and statement (B) is iis
effect, .
© Mark answer (2) if statement (B)
18 the cause and statement (A) s its
effect.

Hl.l‘lm[alil'bcm the state
ments (A) and (B) are independent

. Mark amswer (4) if both the staie
ments (4) and {B] are effects of inde
pendent causes.

Mark snwwer (B) if both the state-
ments (A) and [B) are effects of some

- COMMON CRUSE.

Bl. (A) Majority of the students ol the
school passed tn Mathemat
ics In the annual exarmination

(B] Majority of the students of the
school falled in English in the
annul examination,

83. |A) A huge explosion rocked the
housing complex as a cook
ing gas cylinder exploded in

* one of the flats in the com
plex.

{B) Residents of the housing cons
plex came running out of thei
houses and assembled in the
open courtyard..

83. (A Three top players of the [n

- dian -cricket missed all the
matches of the five mairh
tournament due to injury.

(B} India lost the cricket tourna
ment to the visitors with a
2 : 3 margin,

84. (A} The municipal authority ad
vised all the schools in the rity
to close down for the next two
days.

(B} A huge storm is likely 1o hir
the city during the next 1wo

- days.
a8, W The prices of foodgrains have

" increased by about 20 per
cent over the same period 1ast
year.

(B) The prices of vegetables have
substantiallyl decreased dur
ing the past few weeks.



Directiona (88~ 100) : In each of the questions. below which one of
the five answer figures on the right should come ﬂ:‘rﬂﬁ problem figures on QUANTITATIVE APTITUDE
the left, ifthe séquence were continued ? '

. . Directioms (101~108) : What will

: come come In place of the question
' A 1ollot > Yﬂ mark (?) in the following questions ?
; L y : 101. 14% of 250 x 7% 150 = 840
) @ & @ ¢ (1) 15. i2) 18

) )
i T . A [N S 3) 18 {4} 12
87. leloﬂazal:n ARTBRAT ;;ﬂiﬂ.ﬂl‘ DARMTRANTARS (5) None of these
. ' T
— | ) r, ;..

]

102, (7P = 720
(1) 14 2)7
319 411
(5) None of these
103, 154 % 13.5 x 7 = 2508.75
(1) 13.4 12) 10.5
8)11.4 (4) 12.5
{5) None of these
104, 6435.9 + 7T546.4 + 12035 = 7
(1) 15188.5
- 12) 15185.8
(3 15155.5
(4) 13815.8
(5] None of these

- : : 108, 4.5 x 437 + 19 = 7
02, (@ GIO QO Dlﬂ 0|¢:': 0|D t*! ﬁ ﬂg,ﬁl& EI (1) 1035 ¥ @ 115.3
A ¥ LA W LAY (9 1053 (4 113.5

& 0 107 0 a5 7 OE 6§ 4 I'ﬁl!'ilmev:nhu:
pa. |5 & e 52 K o s Ao Directions (108-110) : What
T [l 4 T

- i - ] approximate value should come in
{1 @ B w. place of the question mark (?) in the

following questions? (Note : You are not
expected (o calculate the exact value)

108. 8390.960+375.002 x 14,896 = 7
(1) 565 2) 225
(3 335 (4) 625
(5 455

107. 7 = 37.0005
() 1150 (2 1220
4@ 1570 (4) 1480

(B %1370

108, 14.998% of 619.999 = 7
(1) 95 2) 80
(3 115 4) 105
5 75

109, 11.003 x 19.998 x 9.010 = ?
{1 1710 2) 1880
(3 1800 @) 1980
-8 175
110. 1088.88+1800.08+1880.80 =7
(113050 (24770
(314820 (415040
(5) 6810




Directions (111-115) : What
should come in place of the question
mark ln the following number series ?

111. 5 54 90 115 131 140 7
ll] 149 (2) 146
(3) 142 (4) 152
(5) None of these

112.7 4 5 9 ? 52.5 1605
(1) 32 (2] 16
(3) 14 4) 20
(5) None of these

113. 6 42 7 12680 5040
30240
(1} 546 (2) 424
(31 252 4] 328
(5] None of these

15120

114. 4 10 40 190 940 ? 23440
(1) 4890 (2} 2930
(3) 5140 (4] 3680

[3) None of these

118.2 9 30 ? 436 2195 13182
[1}216 (2) 105
(3) 178 (4) 324
(5] None of these

118. On Republic Day sweets were to
be equally distributed among 450
children. But on that particular
day, 150 children remained ab-

sent. Thus, each child got 3 |

sweets extra. How many sweets
did car.:h:hﬂd get ?

(e (2 12

319

(4] Cannot be determined

(5) None of these

In how many different ways can
the letters-of the word ‘TRUST
be arranged ? '

(1) 60 (2] 240

{3) 120 (4) 25

{5) None of these _
Amit, Sucheta and Neeti start
running arcund a eircular track
and complete one round in 18,
24 and 32 seconds respectively.
In how many seconds will the

three meet again at the starting
point if they all have started run-
ning at the same time ?
(1) 196 (2) 288
(3) 324
[4) Cannot be determined
(5) None of these

119, A basket contains three blue and
four red balls. If three balls are
drawn at random from the bas-
ket, what is the probability that

117.

118.

all the three are either blue or
red ?

1
(11 2 7
3 T
3 1a - (4) -ﬁ
(5) None of these

120. A man buys a single apple for
Rs. 25. It he weretobuy a dozen
apples, he would have to pay a
total amount of Rs. 250. What

would be the approximate per
cent discount he would get on

buying a dozen apples ?
(1) 32 {2) 20
3 12 4] 8
(817

121. What would be the compound
interest accrued on an amount of
Rs. 45,400 at the end of two years
at the ratio of 15 p.c.p.a, ?
(1) Rs. 16411.5
(2) Rs. 14481.5
(3) Rs. 16461.5
(4} Rs. 14B841.5
{5) None of these

122. 6 men can complete a plece of
work in 12 days. 8 women can
complete the same piece of work
in 18 days whereas 18 children
can complete the piece of work
in 10 days. 4 men. 12 women
and 20 children work together for
2 days. If only men were to com-
plete the remaining work in 1 day
how many men would be required
totally ?
(1) 36
(3) 18
(4) Cannot be determined
(5) None of these

123, What would be the cost of build-
ing a fence around a circular field
with area equal to 32378.5 sq.
metres, If the price per metre for
building the fence was Rs. 154 7
(1) Rs. B4,683
(2] Rs. 86,495
(3} Rs. 79,326
(4] Rs. 98,252
(5] None of these

124. A 320 metre long train takes 80
seconds more to cross a platform
twice its length than it takes to
cross a pole at the same speed.
What is the speed of the train in
metre/second ?

[2) 24

(1} 16
3 6
(4] Canngthedetermined
(5] Noneok{hems.
The pregénl ages H?Ishnl el
Shekhaase: e rietitrof 14y 7
reapectivﬁ]j Slx j&_ﬂ:ﬂm;n FLEs
thier ages will be in the ratio ol
17 © 20 respectively. What 1~
Shekhar's present age 7
[1] 1?--}}-&5.&‘.. ‘Ei B vears
(3} 34 years (4} 2B years
{5} None of these |
Directions (126~130) : Studv th-
[ollowing pie chart and table carefiili
to answer the following questions tha
follow
Percentage break up of employees -
working in various departments ol
an organisation and the ratio of
men to women in them
Percentage Break up of employces
Total Number of Employees = 1800

(2) 10

1285,

Accounts
Dept. | I-"rurhu'll-hl‘l\~.
178 | |

IT Dept.
23%

Ratio of Men to Women
Department | Men | Women |
Production 11 b
HER 1 :

IT . 5 4
Marketing | 7 A
Accounts | 2 7
126. What is the number of men work
ing in the Marketing departmen:
1) 132 (2) 174
(3) 1286 (4] 189

(5} None of these

127. The number of women working
in the IT department of
Organisation forms approxi
mately what per cent of the tota
number of employees in o
Organisation from all depin

ments together 7
7 21 5
(3) 19 {4 15
15) 10



128, What4s the respective ratlo of the
" mumber pfwomenworking in the
HR topartmert iof the organisa-
tion and the total number of em-
iphorrdes ko thint depariment 7
S ® o moal [@pelr 5
Wi ow s g7
"8 ot i thesd” ¢
128. What Is the respective ratio of the
~ number of men working in the
Accounts departméhf to the total
number of employees working in
that department ?
n9:2 {29 7:6
22:90 4 6.7
(5) None of these
130. The number of men working in
the Production department of the
Organisation forms what per cent
of total number of employees
working in that department ?
[rounded off to two digits after
dectmal)

(1) 89.76  (2) 91.67
(3) BA.S68 (4] 94.20
(5 None of these

Directions (131-1385) : Study the
following table carefully to answer the
questions Lhat follow :

Number of units manufactured
(in thousands) by six different
companies over the years

Company| A | B |\ C | D | E|F
Yoo
2004
2005
2008
2007
2008
[ 2000

131. What is the respective ratio of
total number of units manufac-
tured by Companies A and B to-
gether in the year 2009 to those
manufactured by Companles C
and D logether in the same year?
(1) 312 : 329 (2) 317.: 311

(3 329 : 312 (4) 311:317

(5] None of these

The number of units manufac-
tured by Company E in the year

2005 is approximataly. What
per cent of the total number of

units marmafactured by it in all the
years together ?

(1) 31 2) 27

37 4] 15

(3] 23

14.5
158
159
18.0
154
162

138
149
14.6
15.0
155
167

11.8
124
127
128
138
149

16.2
163
16.0
163
156
163

119
14.1
154
157
16.4
166

16.1
152
155
16.1
187
167

132.

133. What is the average number of
" units manufactured by Company
D in the years 2004 and 2007
together? - '
(1) 14650 2) 15750
{3 13750 4 18470
{5 None af these:

134. What Is the total iumber of units
manufactured by Company C
over alj the:years together ?

(1) 783 {2) 7830
(3) 783000 (4] 78.3
-[5) None of these

138, What is the per cent increase in
the number of units manufac-
tured by Company F in the year

2008 from the previous year ?
(rounded off to two digits aRter

decimal)

(1) 3.73 (2 3.62
(438 (4 418
(5) None of these

Directlons (138-140) : In each
of the following questions, a question
followed by two statements numbered
1 and Il are given. You have to read
both the statementsa and then

Give answer (1) if the data given
In statement | alone are sufficlent to
answer the question whereas the data
given in statement I alone are not suf-
ficient to answer the question.

Give answer [3) If the data given
In statement Il alone are sufficlent to
answer the question whereas the data
given in statement T alone are not suf-
ficient to answer the question

Give answer [3) If the data in
cither statement | alone or in statement
Il alone are sufficient Lo answer the
question

(ive answer [4) If the data in
both the statements | and 11 are not
sufficient to answer the question

Give answer (U) if the data given
In both the statements.l and II are
necessary to answer the question
138. Whal is the two digit number 7

1. The difference between the

two digits of the numbeér is 0.

Il. The sum of the two digits of

the number is 18.
137. What is Supriya’s present age ?
I. Supriya is three years older
than Priya. .

1. The ratio between Priya's and
Reshma's age 18 3 : 4 respec-
tively. .

138. What is the speed of the boat in
still water ?

. The boat travels at the speed
of 4 km/hr upstream

Il. The boat travels at the speed
of 8 km/hr downstream.

139. How many marks did Nigam get
in Blology ?

1. Nigam got 42 marks in English
which were half the marks he
got in Biology

II. Nigam's marks in Biology were
14 per cent of the total marks
he got in all the subjecis Lo
gether

140. What s the rate of interest
p.c.p.a. ?

[. An amount of Rs. 6200
fetches simple interest of
Rs. 1736 in two years.

1. An amount of Rs. 4500
fetches compotind tnterest of
Rs. 1348.2 In two years,

Directions (141-148) : Study the

following graph carefully to answer the
questions that follow—

Number of students (number in
thousands) and failing in an
Eantramee Exam six different
cities

* The total number of students in

each clty comprises the number of stu-
dents passing and the number af stu-
dents failing in the entrance exam.

W Passing 0O Falling

coB RS

Humber of sledents (in hevsandgl

141. What Is the respective ratlo of
number of students passing in the
enlrance exam [rom City M Lo those
passing frmm City @ 7
(y 11:7 2 9:11
@ 7:12 4 9:5

(8] None of these .

142. What s the average number of
students falling in the examina-
tion from Citles L.and M together



143.

144,

(1) 22570 2} 20180

3 21650 (4 28750

(5] None of these

What 2 the tolal number of atu-
dents fafling in the entrance exam
lrom all the cities together ?

(1) 175000 (2) 16800

(3 217500 (4] 168000

(5) None of these

. Number of students failing In the

entrance exam from City P s what
per cent of the total number of
students from that City ?(rounded
off to two digits after dectmal)
(1) 28.75 {2) 32.48

(3 36.36 {4) 2'?,!9

(5} Nene of these

Number of students passing in
the examination from City O is
approximately what per cent of
the total number of students pass-
ing in the examination :I'mm all
cities together ?

(1} 4 2) 26

321 4 8

15) 14

Directions [1468-180) : Smdyﬂu

iollowing table carefully to answer the
questions that follow—

Per cent profit earned six
companies over the years

Company| P Q| R| 8| T

| _Year
2004 11|12

=}

7110

2005

10 gl 17

2006

13| 12

2007

14 | 14

[+=] Mo o] R | B 811 o]

2008

3] 15| 13

| 2008

ﬁ'l’.l‘ﬁll'.‘lﬂiﬂ.‘l

B
4
7|6
2
4

12

pr
-

15] 14

1448.

147.

148,

Il the profit earned by Company
R In the year 2008 was Rs. 18.9
lakhs, what was the income in
that year ?

(1) Rs. 303.7 lakhs

(2) Rs. 264.5 lakha

{3 Rs. 329.4 lakhs

(4] Rs. 2289 lakha

(5) None of these

What is the rise in
per cent profit of Company T in
year 2000 from the year 2004 ?
(1) 42 2 3%

(3 26 (4) 48

(5) None of these

If the profit eamned by Company
P in the year 2007 was Rs. 2.1

lakha, what was It expenditure
in (hat year ?

ir4

(1) Rs. 30 lakhs
{2} Rs, 15 lakhs
(3 Rs, 23 lakhs
(4) Ra. 27 Kkhs

*(5) None of these
140. What was the average per cent

profit of Company 5 over all the
years together ?

{1) 135 (2 11

312 14

(5} Nane of these

IH. What is the difference between
the per.cent profit earned by

Company @ in the year 2005 and
the average per cent profit eamed
by the remaining Companies to-
gether In that year ?

2 2

31 4 3

{5 None of these

GENERAL AWARENESS ON
CURRENT DEVELOPMENTS

181. All the major world leaders gath-

ered in Berlin in November 2009
to mark the 20th anniversary of
{1) European Union

(2] NATO

{3) Fll of Berlin Wall

{4} G-20

{5) None of these

182. Which of the following issues can- .

not come under the purview of the
functioning of the Human Rights
Commission of a country ?

(1) Racial Discrimination

(2) Treatment toPrisoners of War

(3) Human Traffickjng
{4) Child Abuse

(5). Climate Migration

lﬁﬂwltinewemadmﬂwnm

papers the REI has changed or

revised a particular fatio/rate by

a few basls points. What is basis

polnt?

(1) Ten'per cent of one hundredth
point

(2) One hundredth of 1%

(3) Ome hundredth of 10%
{4) Ten percent of 1000
{5) None of these

I 154, A prominent International weekly

sometime ago printed a caption on
its cover page which read “Brazil
, Takes Off". Other major newspa-

' pers/magazines also printed simi-’
lar stories/articles in their publi-

10

catione at the time. Why have

magarines /newspapers decided

to talk abioat Brazil theae days

(A All major economies ol 1y
world have been taking tim:
1o recoven from (he recession
but Brazil was one wi, thos
which was “Lasl in and Firsi
out”™.

(B) Brazil is a member of BRIC.
but unlike China it Is a democ
racy. unlike Indla, #t has no
hostile nelghbours, no s
gents and unlike Russia it ex-
poris more oil and arms and
treats forelgn investors with
more respect. :

(C) Brazil is the world's second

. largest booming economy.

{1) OnlyA (2] Only B

{3) OnlyC

(4) AllA. BandC

(5] Only Aand B

188, The President of the Palestine o
cently emphasised that his cuun
try will not resume peace talks
until Israel fully halts setilemen
building in the

{1) West Bank (2) Haifa

(3) Geaza {4) Tel-Aviv-Yalo

(8) Jerusalem

IH. If you see a big hoarding at »
prominent public place, the punch
line of which says “We All Were

Born Free™., "We All Have Equal

Rights”, in all probability. the

hoarding is put up by

(1} Mational Commission fur Farm-
ers

{2) Natlonal Hurman Rights Com-
mission

(3 Directorate of Income Tax

{4) Ministry of Foreign Alfairs,

{5 Union Public Service Commis
alon

187. Nowadays we frequently read

news items about *Derfvatives” as

used in the world of flnance and

money markel. Which of the iol-

lowing statermnent(s) correctly de

acribes what & derivative 1s and

how it affects money/finance

markets 7

{Al Derivatives enable individuals
and companies to insure them-
selves against financial risk,

(B} Derlvatives are like fixed de
posits in a bank and are the
safeat way to Invest one's idle
maney ing in a bank.



analysis and for the causes of the

sub-prime crisis which gripped

America and the world a few

months back, Which of the fol-

lowing was/were amongst the
common cause(s) of the same ?

(They were present in almost all

the economjes). '

(4 The problem was that inves-
tors erroneously believed
property prices were quite
predictable and built a whole
edifice of financial planning on
the back of the American
housing market.

|Bl Credit rating agencies all over
the world were not equipped
to forecast the effect of sub-
prime - crisis on  world
economy. Agencles were over-
confident and did not react in
time.

[Ci*Nedther USA nor other coun-
tries took a note of the crisis
in time. In fact they ignored it
for quite some time,

(1} OnlyA  (2)OnlyB

(3] OnlyC  {4JAllA BandC

(5 OnlyAand B

189. Amongst the following, which one
of the following sectors provides
the highest contribution ir Indus-
trial Production Index ?

{1} Crude Oil

(2] Petro Refinery Products

[3) Electricity

(4} Coal

(5) None of these -

160, Which one of the following will be
the first High Court in India, to
implement the concept of ‘e-
courts’ ? .
i1) Delhi
(2) Arunachal Pradesh
(3} Chennal
i4] Kolkata
(51 None of these

181. The avallability of cash and other
cash like marketable instrument
that are useful in purchases and

(4] Banking and Finance
(5] None of these

184.In which one of the l'ulli:m"ln_g-

‘countries, was the recent Com:

monwealth Meet (CHOGAM) held ?

(1) Trinidad (2} Canada

(3) Australia = (4)Jamaica

(5 United Kingdom -

168. Which one of the following deci-
sions taken by the RBI will pro-
mote the concept of financial in-
clusion In the country ?

{1} To appoint some additional
enlities as business corre-
spandents

[2) To collect reasonable service

. charges from the customer in
& transparent manner for pro-
viding the services

{3) To ask the banks to open at
least 50 new accounts daily
in non serviced areas

4] Only (1) and (2)

(5] None of these

186.The Rajaya Sabha has recently
cleared the m.-wpull bilt. Which
one of the followifig amendment(s)
is/are made in this bill ? It has
proposed

11

(1) increasing the security depos
+ lIts Lo more than double
(2} restricting the publication of
exit palls

(3] ensuring speedy disposal of
- electoral disputes

{4) Only (1) and (2)

(51 Al(1). (2) and {3}

167. Which of the following countries

has conferred the hapeur of "Le
giond’ honneur” on Bharat Ratn.
. Lata Mangeshkar ?
;.-_\."_ {1} Germany (2) Norway
" @) Japan
[4) United Kingdom
{5) France

_ 188. The markel in which leng term

securilies such as stocks and
Bmﬂlmbuuglﬂmdwhilsmm
maonly known as
(1) Commodities Exchange
(2) Capital Market
(3) Bull Market
(4) Bullion Market
(5) None of these
169. Which one of the following was

India’s lupdml'l.lr&n for exports

during 2000 ?
(2) Usa

(1) UAE
(3] Russla (4] China

i5) Bangladesh

170. World Trade Organisation (WTO) s
ministerial meeting was organised
in which of the following citics

recently ?
(1) Geneva  (2) Washinglon
(3 Paris {4) Port of Spain
[5) None of these

171.As per the reports published i
newspapers, India purchasel
around 200 tonnes of gold (almost
half the quantity of gold put up

. for sale) in Sepiember 2009. In

dia purchased this gold from which
of the following organisations 2
(1) World Bank
(2) Asian Development Bank
(3) Intemational Monetary Fund
{4) International Gold Council
{3) None of these

172, Which one of the following is /are
implication(s) of large inflow of
foreign exchange into the coun
uy? - '

- A} It makes monetary manage-
ment difficult for RBI.
(B) It creates money supply. as-
set bubbles and inflation



(C) It weakens the competitive-
nesa of Indian exports

(1) OniyiA) (2) Only(B)

(3} Only[C) :

(4) Only (A} and (C) _

(3 AlA BandC
73. Chinese objections. hiive stalled
. the road work at the village of

Demchok, on the Indian side of

the' line of control. I which one

of the following states is this vil-
Iage located ? .
(1} Arunachal Pradesh
(2] Assam
{(3) Himachal Pradesh
(4) Rajasthan
(5) None of these
174, Which one of the following com-
panies is the largest producer of
. natural gas in the country ?
(1l ONGC (2 OIL
(3] Calm India [4) RIL
(5] None of these
175. Which one of the fi is the
abjective of the flagahip scheme
‘Rashtriya Swasthya Bima Yojans'
(RSBY) ?
(1} To provide life insurance
cover to rural households
(2) To provide health insurance
cover to rural households
3 To both life and healih
insurance cover to rural
household
{4} To provide life and health in-
surance covers only to people
living below poverty line
{35} None of these )
178. The Central Banks of which one
of the following countries has of-
fered 8 15 billion emergency credit
to support its economy hit by fall-
ing prices and also to sirengthen
ils cwrrency 7
(1} South Korea (2) “Japan
(3] United Kingdom
(4] United States of America
(5] Noneofthese
177. The process of disinvestment of
profitable public sector unita will
be used for which of the follow-
ing purposes ?

", anud-ﬂngm

(2} Modernlsation of PSEs

{3} Opening of new PSEa

(4) Meeting the expenditure for
varlous social sector schemes

(5) None of these -

178. Which of the following books is
written by Chetan Bhagat ?
(1} The Golden Gate
(2] A House far Mr. Biswas
(3 2Siates (4) White Tiger
(6) None of these _
179.NTPC Ltd, is In the process of
cxphrtug-:rppm-tuniqmtumumc
coal from overseas. In which one
of the eountries has the
NTPC identified two new coal
mines ?
(1) Bhutan (2} Australia
3] South Korea
{4) Indonesia (5] None of these
180. In the proposed low cost pension
scheme, which one of the follow-
ing has been made responsible for
maintaining of the records of pen-
slon account of an individual ?
. (1) SIDBI
{23} Nationdl Securities Deposito-
ries Ltd. (NSDL
{3) Stock Holding Corporation of
India

(4) Reserve Bank of India
(5! None of these

181. Which one of the following had set
up the N.R. Narayana Murthy
Committee on lasues relating to

Corporate governance ?
(1) SEBI (9 RBI
3 cu '
{4} Ministry of Finance, GOI
(5) None of these

183, Conatitutionhlly, which one of the
following can levy Service Tax 7
(1) , Union Govt. only
{2) State Govt. only
{3) Union Territary Govt. only
@) Allofthese
{5) None of these

183, Which one-of the following states
has sought a of Rs. 500
crores (S 100 million) for its Ru-
ral Poverty Reductioh Programme?
(}) MadhyaPradesh -
{2 Tamil Nadt .
9 Arunachal Pradesh
(] ﬁu'mtlh -

e s T

year 2010-2011 ?
(1} 35%  (240%
B 55% (450%
[51 Nome of these

12

188, Citizens of which one of the iul-
lowing age-groups [in ycars) arv
covered under the New pension
System (NPS)?

(1} 18=50 [2)21-55
(3 25-55 (4) 18- 60
(5] None of these

188. Who among the following was the
Prime Minister of Nepal just b
fore Madhav Kumar Nepal 7
(1) Ram Baran Yadav
2} P‘u.mhpalmnm][)ahal Prachnd
{3} Girlja Prasad Koirala
{4} Mahendra Kumar Suryavanshi
{5 None of these

187, Which of the following nations was
the third largest producer of steel
In the world in the year 2009 ?
(1} China {2} India
(3) United States of Americal
(4} Japan
(5) None of these

188. The 10th [ndo-Eurepean summit
was held in November 2008 in
New Delhi. Who among the fol
lowing represented India and pre
sided over it 7
{1) M Krishna
{2} Pratibha Patil
{3) Pranab Mukherjee
{4) Manmohan Singh
(5] None of these

189, [rina Bocova is the Chief Execu
tive of
() ILO
(3) OPEC
(5) UNESCO

190. Which of the following is the flrst
cricketer to score 17000 runs in
One Day International matches 7
(1) Rahul Dravid
(2) Stephen Fleming
{3 Ricky Ponting
(4 Sachin Tendulkar
(5] None of these

191. Who among the following won ‘Mis
Earth 2000' tithe? v
(1) Alejandra Castille Mynera
(2) SandraSeifort .. .

(3) Jessica Barboza

(4) Larissa Ramos

{5} None of these
192. Which of the

{2) UNICEF
{4} UNOD

following
has in

(4) Europban Uit /
(5) Nonk & théae



183, Well known Dada Saheb- Phalke
award is given for excellence in
the Neld of
{1} Spors (2] Literature
(3) Science and Technology
{4) Soclal Service
(3} None of (hese .

194. Dourjl Khandu is the Chief Minis-
ter of the state of -

(1l Meghalaya
(2) Utlarakhand .
{3) ArunachafPradesh
(4) Assam

" {5) Nonc of these

188, The organisation of South East
Aslan Malions i called
il] OPEC (2) SAPTA
3] NATO (4 UNCTAD
{5) ASEAN

198. Who among the f[ollowing s the
author of the book Termites in the
Trading System' ?

(1) M.5. Swaminathan
2} Jagdish Bhagwatl
(% Jaswant Slhgh

[4) M, Chelapati Rao
{51 None of these

107, Reverse Mortgage scheme was
inltiated by some organisations/
insUtutions some years ago, it was
started Lo help which of the fol-
lowing class/ group of the soclety?
{ll Beneficlaries of NREGA

{2l People living below poverty
line

(3 Youths
{4} Benior Clilzens
(3} None of these ,

198.In the aport of Football, which of
the following term ls used ?
(1) Caddi (2) Cut back
(3 Mid-an  (4) Luv-

{5] Mone of these

198 Which of the following Is a non-
food ciop 7,

(1} Wheat (2) Maize
{3 Bajra 4] Rice
{5 Jute -

200. The Government of India bhas re-
cently announced ita Foreign
Trade Policy 7 This announcemant
is made by which of the Following
miniatry/ageney.?. |
I} Reserve Bank of Indla
{2) EXIM Bank * .

{3) Ministry of-External Affairs

(4) Minlstry of i:apﬂnem and
industries’

(5 Nome of these -
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B (2 14-4x7+12+8=7
=7aldx4+T7+12=8

4
+12+8 .

x

= 7= 7
=72B+12-8=12

0.2D>C>E. B A

11.(3)
— . ;
16 5186 15181 20 5
PERFORATE
12. (3)

Monday ‘is --Ml .pl'
they enjoy [a_holiday|—wda nal ta ka

The code for*"Monday’ is 'sa’ or 'pa’.
Byl
18.(4) 4
f———3M
Therefore
Htlsp
L+ys
14. (1)
Dm %},
Starting
Point
&
Mikhil is 20.m towards north.
1839 1 82 7 38405
6 1827386-5
18273 --5
81827 ---258

18, (1} 813 =+ ]83 ; 479 = T45;
564 = 654; 385 = 835 ;
792 = 872
Lowest Number = 153 = 813

17. {2} Second Lowest Number
=4 [7 9

18. (3) Second Highest Number -
= 792
7+2=90

19. [5) W + T = W ia father of T.
T +J =T s father of J.

Therefore, W is paternal grmdfa
ther of J.

J +T=J is [ather of T.
T x W = T is mother of W,

Therefore, J is maternal  grandfa-
ther of W, :

J % T = J Is mother of T.

T » W = T is mother of W.

Therefore, J 18 maternal grand-
mother of W,

JquJumhernfT._
T + W = T ia father of W.

Therefore, J ia paternal grand-
mother of W.

20.(4) M =T = M is brother of T.
T+dJ =T Is father of J.
J - R = J Is brother of R.
Th:rcfure M ls uncle of R.
R-T= R is brother of T.
T + M = T is father of M.
M - K = M is brother of K.
Therefore, M is nephew of R.
R+ T= R is sister of T.
T+ M=>T is father of M.
M+ K= Misslater of K.
Thetefore, M is niece of R.
21. () [Conacnant | Wumber | Consonant |
" Such comblnations are :
| H3R || K2P || NaW |, Vo |

23. (3
3—*“*[{ ﬂ .-..-.-}
+h +8

w—Es 5—-1'3-1-¢,-—-.-+

23. {2) According to guestion, the
new sequence would be :

H!HHAHIP!EH'I-'#E'IIUUNIDTF

11th from right

94, {4) 6th tothe left of the 14th from
the left means 8th from the left
ind.ie K.

!B. (1 |m[m[aym|

mmnnnnﬂmmmm

(26-30) :
# Al t.uhlu are umbrellas —
Universal Affirmative (A-type).
(8 Some pensars tables — Par-
ticulars Affirmakive (I-type).
{iif) No box is bottle — Universal
Negative (E-type).
{v) Some boxes are not bottles —+
Particular Negativé (O-type).
26, (1) Some ey i tgbles

All tables are umbrellas,

1+A= - type of Conclusion.
“Some pens are umbrellas”,

14

Conclusion [] is Converse of it

Some y“

All sticks are caps.

| + A= I- type of Conclusion
*Some umbrellas are caps.”
Conclusion | is Converse of it.

27. (4) All chegues are notes.

All notes are tyres.

A + A = A- type of Conclusion

*All cheques ara tyres”.
Cundusi-::m Mmis Cunvtrse of it

Al nmta are tyres,

All tyres are books,

A+A=sA- type af Conclusion
"All notes are books™.

All tyres are books.

All books are rods,
A + A= A- type of Conclusion
“All tyres are rods”.

+ All notes are baoks.

All books are rods.

A + A = A- types of Conclusion
*All notes are roda”,
Conclusion 1 1s Converse of it.

All cheqyes are tyres.

All tyres are books.
A + A = A- typeof Conclusion
“All cheqeies are bouks™.
Conclusion 11 ts CoffEsEoF the
third Premise. bufd
18]
28. [5) Some l.ancu are polca
All plqle:a'a_re sl:dels_._l 1
- 1+ A= I type of Contlusion
Dl e ow e ca
Some skies %fh. Xes. .

vl !
No boX 1¥' Holtle: Ie ot

1I+E= G‘W of Canglugion



"Some skies are riot bottles”.
Coneclusions ‘[ and HI form

Complementary Pair. Therefore,
either I or 111 follows.

28. (3] Some cars are days.

AJldmf}t nights.
[+ A= |--type of Conclusion
“Some cars are nights",
Conclusion 1T 1s Converse of it.

30. (3 Bb!'ne setds are flowers.

All flowers are Lrees,
I+ A=+ I- type of Conclusion
“Soine seeds are trees”,

All flowers are trees.

Aﬂlrcc:areleavca;_

A + A= A- type of Conclusion
"All flowers are leaves”,
Conclusion [I] is Converse of it.
Some seéds are trees,

All trees are leaves.

1+ A= I- type of Conclusion
"Some seeds are leaves”.
Conelusion I1 is Converse of it.
(31-38) : Sitting arrangement

31. (4) V is siiting between Z and Q.
ﬂ.lllohmdmthedmtuf&
i:]?ummunmmm
St
34. (3] T is third 1 the lef of .
35. 2)Ris theright of W.
380U Z MK.EF
ododidboke
‘3 808 R o4
Conditsort {itf s dpplicable.
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(41-48) : mmw of |

the Input and ¥

Stepll :

Joy
StepI : 15 over 43 man 79 63
like joy b
StepIV: 15 over 43 man 63 79
“ ke Joy '
BtepV : 15 over 43 man 63 lke
79 Joy : )
4.1
hpll:'ﬂwldpﬁ?éﬂm
* - 35 kte

StepIl : 27 world 35 m.u:‘f 48
BtepIV: 27 world 35 stem go 57

48 kite
Ihpvzz?wrldaﬂmmup
57 Kite

Mﬂtﬂ?ﬂfﬂ.‘!ﬂmﬂkﬁe _

. go 57

Step VII: 27 world 35 stem 48 kite
.WIP .

43 (1)

Input |umfwmmm
. 32 48

Ihp! Sﬂhjunfnrﬂl mrh
home 48 '
Stepll : n_mumfwm

hmfs

15

' qulltﬁ style 48 94 join for

81 home
BtepIV: 32 style 48 join 94 for
.81 home
ltlp\" 32 style 48 join 81 94
for home
Step VI : 32 style 48 join 81 home
" 94 for
“.2)
StepIl : 18 tower 38 basket 82
78 hallnew
BtepIV: 18 tower 38 new baskel
X 82 76 hall
StepV : 18 tower 38 new 76
basket 82 hall
BtepVl: 18 tower 38 new 76 hall
basket 82

¢ | 868pVIT:18 tower 38 new 76 hal

82 basket -
48. (4) From the given step, Input can
" not be determined,
(48-80) :
h =<
* =3

¥ =38 ==

@ =z

W.(IM¥R=2M>R
R%P=RJIP
PElI=pP=)

* Therefore, M> R< P =J
. M¥P = M>P: NotTrue
ILJ¥R =J>R: True
MLU%M = J<M: Not True

47.2P*D=PzD

D#Q=D>Q
@GE&R=0Q=zR
Therefore, P>D>Q <R
Conclusions
l. Q%P = Q<P: True
I. R#D = R>D: NotTrue
“INLP#D = F»D: NotTrue
8.1 THM=2T<M
M@K=M:K
KxF=K:F
Therefore, T< M<Kz F
Conclusions
I. F%M = F<M: Not True
N.F%T = F<T : NotTrue
DLE#T = K»T: True
M 5HOK=HgK
KiN=K=N
N%T=N<T
Therefore, Hc K=N<T



Conclnadons A
. T#K = T>K: True
I. N6EH = N =H: NotTrue
ILH%N = H<N: NotTrue
Elther II or 11l is true.

50.(4) FED=F=D
DxK=Dz>K
KéM=2K>M

Therefore, F=D > K>M
Conclusions

. M D= M=<D: True
ILK@F = KgF : True
NLE#M = F>M: ‘H‘m
(51-80) :
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B1. (1) Susan D'Souza satisfies all the |-

mndiﬁn Thereforeshe can be

Ba. [ﬂiht:hana.ﬁahulhﬂnutllt- :

isfy condition (v} or (b). Therefore,
she cannot be selected,
83, (3) Sudhakar

54. (4) Abhlmshuﬂtmm
conditions {1}, (i}, [i8), (). (b) and
{vi). Therefore his case shiould be |
referred to Chabrman.

B5. (2) Atul Garg does riot satisfy con-

dition (L). Mnhmm .

be selected.
58, (4) Meena Gogoi
dition (1), (&), (i), (i), {b) and (vi).
Therefore, her case should be
referred to Chalrman.”

87. (3) Navin Malhotra does satisfy

conditions (a), (H), (ki (iv), iv) and.

- [vi). Therefore, hhmlhuuld
bé teferred to ED, -

58. (5) There is no information about
condition (vi). i
58. (5) The percentage of marks tn
Xl standard examination 1s not
given. -

con-.

80, (1) Antara Ghosh does satisfy all

[ll-ﬁﬂ:_f'
A Finance I
B Sales I
c Finance 1
D | Sales I
E - Finance m
F Operations | 1
. « Sales I
H Operaticns 1l

pl.[ﬂmwnﬂhnm E-
IIl 18 correct.

@2, (3F B, D and G work in Sales de-

63. (2) H belongs to scale 1.

84, (3) G belongs to scale 1.

ﬂiﬂlﬂhdmgltumm

H;Il]ﬂnmﬂﬂ'thaam&mﬂth:
third line of the From
thu:t\lnhul,ﬂ;hchnrﬂuttm
Inference is true,

67, (3) There is no such comparison in

the passage.

68. (1) The inference is definitely true.

Consider the last line of the pas-
80, (2) From the first three lines of the
passage it is clear that the Infer-
ence s probably true,
mmmmumm
It is mentioned in the passage that
_coal resource is relativaly large in

- comparison to other fossil fuels.

Therefore, it is very difficult to as-
-sert that India’s coal reserves are
much more than its requirement.

Thluwmiﬂ.ﬂmlm
10 be aultable for pursuing,
inspection of buses can ensure
. maintenance. The use of term ‘all
in the second course of action
makes it invalid. .

T&[ﬁﬂmﬁrmﬁﬁmﬁhm
able for pursuing. Course of action
[ suggests a very harsh measure.

73. (5) Both the courses of action | and

- Il are suitable for pursuing.

74. 4] None of the courses of action is
sultable for pursuing. Course of
action | is not suitable for such a
minor incident. Course of action II

 does not solve the problem.

78, (1) Course of action | seemis to be
suitable for pursuing.

16

78. (1) Only assumption [ is implicit in
the statement. The ericketing body
decided to hold the final match in

+ thebiggest stadium assuming that
a large number of tickets would be
sold.

77. (5) Clearly both the assumptions
are tmplicit in the statement. The
local hioapital issued the notice as-

. suming that large number of people
would come up to avall the facility
and hospital staff would be able to

" “COpE up with the rush of people
for check up.

78. (5) Both the assumptions are im-
plicit in the statemeént. If the Gov
ernment has declded to distribute
foodgrains, it implies that there is
enough stock for distribution.

79. (1) Omnly assumption [ is implicit in
the statement. The Government
advises the banks to reduce rate
of Interest assuming that bank
would reduce the rate of interest.

80. (2) Only assumption 11 is implicit
in the statement. Any notice is is-
sued assuming that people will read
the notice and follow the contents
of the notice,

81. (4) Clearly both the statements arc
effects of independent causes.

83 [HClemiyntatthhmu cause

" and statement [B] s its eflect,

83. (1) Clearly statement (A} is the
cauge and statement (B) is its ef
fect. _

B4. (2) Clearly statement (B) is the
cause and statement (A) is its of
fect.

| 88, (4) Both the statements (A) and (B)

. are effects of Independent causes.

88. (2) The following chdnges occur
from Problem Figure (1) to (2) :

Similar changes occur from Prob-
lem Figure (3) to (4) dnd from Prob
lem Figure 18} th Anewer Figuire.
87. (1) From Pi'bblem Pigure (1) to (2)
one line - is deletetl frim
the u]:rpm-ra#r the left arid the right
designs of the middle rew inter-
change positions and one circle is



added in the lower row. From Prob-
lem Figure {2} to (3] two line seg-
ments are added in the upper row,
the two middle designs of the
middle row interchange positions
and two circles are deleted from
the lower row. Similar changes are
continued in the subsequent fig-
ures. Therefore, from Problem Fig-
ure (5] to Answer five line

segments of the upper row would |-

be deleted, the left and the right
designs of the middle row would
interchange positions and five
* 'rcles would be added to the lower
row, -

- {3) The following changes occur
from Problem Figure (1) to (2) ;

2N

g

Similar changes occur from Prob-
lem Figure (3) to {4) and from Prob-
lem Figure [5) to Answer Figure.
89. (4] The following ¢ occur
from Problem Figure (1) to (2) :

Similar changes occur from Prob-
lem Figure (3] to (4) and from Prob-
lem Figure (5) to Answer Figure,
90. (5) The following changes occur
from Problem Figure (1) to (2) :

i

#

Similar changes um:ur from Prob-
lem Figure (3) to (4) and from Prob-
lem Figure (5) to Answer Figure.

8L. (2) In each figure half
leaflet is ‘added and the, design
maoves In clockwise direction after
rotating through 45°, 90°, 1as5°,
1807.......... clockwise respectively.
92. (3) From Problem Figure (1) to (2)
the shaded part of the left design
moves in antiélockwise direction
and the lower design s Inverted.
* Similar changes occur from Prob-
lem Figure (3) to (4) and from Prob-
lem Figure (5) to Answer Figure.

(1} The following changes occur
from Problem Figure (1) to (2) 3,

—*8— §

b R o
I WY B

The arrow rotates thrbugh 45°
clockwise in each subsequent fig--
ure ' .

mm;emwrmmurr_mm
lem Figure (5) tuﬁmm:-ﬂ;twg.
(1) From Problem Figyire'(1) to (2)
the line segment {diagonal) rotates
through 45° with the two pairs of

™.

designs. Simllar changes occur |

from Problem Figure(3) to {4) and
from Problem Figure (5) to Answer

96. (4) From Problem Figure (1) to (2)
all the designs move one step in
design is replaced with a new de-
sign. Similar changes occur from
Problem Figure (3) to (4) and from
Prubl:ml’lgme[ﬁ}tonnnm-ng-
ure .

96. (2) From Problem Figuré (1) to (2)
the half part of each design moves
to the opposite side. Similar
changes oceur from Problem Fig-
ure {3) to (4) and from Problem Fig-
ure (5) to Answer Figure, .

97. (3) The following changes occur
fmmﬁubhnﬁmm{l}tu[ﬂ]:

>
Pl S €

17

Similar changes occur from Frob-
lem Figure (3) to (4) and from Proh
lem Figure (5) to Answer Figure.

98, (5] From Problem Figure (1) 10 (2)
the design rotates through 90°
clockwise. Stmilar changes otcur
from Problem Figure (3) to (4) and
from Problem Figure (5) to Answer

¢ Figure,

‘88, (5} From Problem Figure (1) to |2)
the outer designs move one step
in anticlockwise direction while the
Anner designs move one step in
clockwise direction. Similar
changes occur from Problem Fig.
ure (3) to (4) and from Problem Fig
ure (5} to Answer Figure.

100.{4) In each subsequent figure a
‘new design appears at the upper
right corner and alternately one
and twe line segment(s) appear|(s)
at the middle left position. The
angle descends diagonally
stepwise after rotating through 90°
clockwise and ascends diagonally
in one step. The design (B) moves
stepwise from right to left and in
one step from left to right after
rotating anticlockwise.

260x14 150x7
® = 840
100 100

B525x7
10
84010

525

102.(8) ? = ¥720 =9

' 259875
108 7= 1505738

104.(2) 7 = 8435.9 + 7546.4 + 1203.5
= 15185.8

5 '
108.(1) 7 = —0%437 i‘g‘m =1035

108.(3) 7 = B40O + 375 x 15
[ 8389.999 = 8400, 14.996 -
15]

8400x15
" a6

% Required answer = 335
107.(5) ? -3?)(371]3’59 )
" Required answer = 1370

620x15
100

101.(3)

=

=7= =16

=125

'108.(1) 7 =

*» Required answer = 95



10904} 7 = 11 = 202 9= 1980 .-i L

110,21 7 = 1088 88 + 1800.08 +
1850.80 Rebd

< AT e =A7T70
TELAD) The pattern iy
ST =04
51+ 6% =90
M« 5= 115
[15 + 4% = 1131
A+ 3% e 140

140+ 2% = 140 4 4 = -

11204 The pattern s :

Tx05+05 = 35+u5-wi:"
dulsl=4+1=25 e
HGx15+15=75+15=9

Bx242= ]Esi?..u[?ﬂ _
TR The pattern is
w7 =42

42 x 6 = {252
dhd w 5= 12600

114.(3) The patlern g
4 h - 10 =10
10w 5 - 10 = 40
A0 x5 - M) = 1u0
0w 5 - 10 = 940
B 5 - 10 = 4700 = 10

- 4690 |
115.42) The patier s ; -
2l lxTeq

F'Hﬂi-ﬂkﬁ:ﬁﬂ '

:!-Unﬂ+3){5=llﬂﬂi

105x1+4x4=436

WE x5+ 5x3=2195
116,13 Number of sweets for 150 ?

sent childrens 300 % 3 & Hfl'f.-

. Number of sweets gach IW
900 .

ipfy = === +1 =0

eele =Tt

137.01) ‘The word TRUST cmmd
live etters inwhich T mnﬂhﬂé |

© Wumber of m‘mngcmeﬁti?\_

x1dd:«.2><].
2x1 'Eﬂ

18

S Bxpenditore onfacing
= Ha, 164 « G380 = Hs.. = Y
12‘1.{5} Let the spred I..'!rtht"'lr.,!llrl Lo s

my s r
i{).&: 340 a0
¥ ¥
320
RS
;! JH}
L TR e S mysec = speed ol
tradn

125.(3) Lei the present ages of Vishu
and Shelthar et dxand 1T xvears
respectively,
Aler G vedrs,
x+b 17
I¥x4+ 6 20
=3 DEOLC 4 120
= 280y + 102
18
Axs g
= Shekhar's present age
= 17 % 2= 34 vears
g } 128,04 Number of men working in oy

w3 Oy = 18

]
e

Marketing department

' 18 7

= b - =184
100 12

MAZT.15) Number of women working i
L Mdepartment

A ey
ey
< Bequired percentage

154
2 100 = 10
® 1800

“128.(1) Reguired ratlo = 3 - 4
4 12903 Required rtio = 2: 9
1 130.(2) Required pcrcenta,ge

. b
11

e =100 =E:11.E:|T|"
12

-'s 131.03) Required ratlo
_,.;;, = (162 + 16.7) :
S o= 3200010
132.04) Number of units manufact e
- by Company E

= (1459 + 141 + 154 + 157
16,4 + 16.6) thousand
=021 thousanet
Required per cent

14.1:

e 0015
® oo

= 1800

(14.9 + 16.3)




133.(2) Required average

16.2 + 1547
- _:Z"_,J thousand .

= 15750
134.(5) Number of units manufactured
by Company C
= (116 + 124 + 12,7 + 129 +
13.8 + 14.9) thousand
= 78.3 x 1000 = 78300
138.(1) Percentage increase
167 - 161
= e 100=373
138.(2) From statement I,
X+y=
It is possible only when x = iy = 9.
137.14) Dala are inadequale,
138.{5] From both statements,
Speed of boat in still water

= %(4+E]=5 k_[n_ph

138.(1) From statement [
Nigam's marks in Biﬁklggr
=2 %42 = 84

140.13) From statement |,

5.1 x100

Rale = Timex Principal

1736 x 100
] ﬁm 2 _14%Permn]_|_m

R T
Byusmgc.].=P[“i'0'_u] -1

~ we get the required rate of inter-
est,
141.12) Required ratio = 22.5 : 27.5
=89:11
142.(4] Average number uf students
fatling in the examination from cit-
iea L. and M together.

{225+ 35
=[ 3 thousand = 28750

143.(1) Total number of students fail-
ing in the exam = (22.5 + 35 + 30
+ 37.5 + 20 + 30) thousand
= 175000

144.(3) Required percent

WA -'.l-'-:

. =2 100=3638
= @6+ U0=363

148.(5) Tmunmd students pass-
ing in'the exam from all the cities
together

" 181.(3) Emergency aid

=30+ 225+ 325 +25+35+
27.5] thousand = lﬁ.ﬁﬂlmmmd

Required percentage
25 ’
= ﬁﬁxlﬂﬂ 14
146.14) If the expenditure be Rs. x
lacs, then

Exlﬂﬂ:
X

189x100 '
SE=TTe
= Rs. 210 lacs
< Inecme = Rs, (210 + 18.9) lacs
= Rs, 228.9 lacs
l-i'?.[ﬁ] Percentage increase

4
= --XIW-W
10

148.(1) Required expenditure of the

21x100
=T 7

= Ra. 30 lacs
lﬂd&]mwmm
T+8+13414+15+15

. = 6
180.(2) Required difference

“10- [9+5.+a;1:* E)
=10=8 a2
191.(3) Fll of Berlin Wall
152.(5) Climate Migration
183.(2) One hundredth of 1%
lﬂ.{ﬁlOﬂhﬂnﬂdE
1068.(1) West Bank
lﬂl«.[ﬂ]ﬂﬂt’mﬂl'hlmmtlm
mission

157.(3) Only A
188.(4) AllA, Band C
159.(1) Crude Oil
160.(1) Delhi

162.(3) National Rural Emphnm
Guarantee Act .

163.(2)

164.(1} Trinidad

168.(4) Only (1) and (2)

106.(4) Only (1) & (2)

187.15) France

168.(2) Capital Market

188.(1) UAE

170.(1) Geneva ,

171.{3) International Monetary Fund

19

172.(5) AllA, Band C

173.(1) Arunachal Pradesh

174.(1) ONGC :
178.{2) To provide health insurance

cover to rural households
176.(2) Japan

177.(4) Meeting the expenditure for

various saclal sector schemes
178.[3) 2 States
178.(4) Indonesia

180.(2) National Securities Deposito

ries Ld. (NSDL)
181.(1) SEBI
182.(1) State Govi. only

183.(1) Madhya Pradesh
184.(3) 5.5 %

188.(5] None of these

188.(2) Pushpakamal Dahal Prachand
187.(2) India

188.(4) Manmohan Singh

180.(5) UNESCO

190.14) Sachin Tendulkar

191.(4) Larlasa ramos
192.(1) Aslan Development Bank

193.[5) None of these
104.(3) Arunachal Pradesh

188.(5) ASEAN

190.(2) Jagdish Bhagwati -
197.14) Sendor Cltizens
198.(5) None of these

198.(5] Jute

200.(4) Ministry of Commerce and In-

dustries

Inspiring People



